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The figures in the margin indicate full marks
Jor the guestions

Answer either in English or in Assamese

1. Answer any ten of the following questions :
v 1x10=10
S 2P R e webR Ty fam
(a) Mention one feature of international
trade.

s N NS o S—

(b} What is international economics?
e SRS R 2

(c) What is meant by comparative cost
differences?

TS TR A1 T 3o w0
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(2) | (3)

(d) Give one essential element of (k) What is political argument for trade
Heckscher-Ohlin theory of international intervention?
trade. TRTT TICFR IRART 1 6 2
@ER-ATR e A oToE @b
SRR Beme ot | () What is protection trade?

(e) What is meant by Leontief paradox? S Ak
Frefbes ies e ERRLES | {(m) Define flexible exchange rate.

(/) How does economies of scale affect ‘ et R 2 e fea o
international trade? :
ST Reafer @M SRR s (n) What is foreign exchange market?
SRS $1? e R e 2

(g9 Who developed the technological gap " (o) State one main feature of European
model of international trade? Monetary System.
rEifes e TR F D @A LN TH1 IRER <1 T CafE B 01
TRie FffRe 2

(h) Define multinational enterprise 2. Answer the following questions in brief (any

- - ) five) : 2x5=10

RS ST oS faar iR oY e fim (R e <fisd) -

(i Give one argument in favour of free

- international economics.
T 0T FCE b1 I iy e ST 151 Reag ot |

() Mention one objective of trade
restriction.

1T PR 9B S S < |

)
trade. (a) Write two subject matters of
‘ (b) What is meant by pattern of trade?
| R @1 A R e 3w 2
|
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{c)

(d)

(e)

(9)

M

22A/868

(4)

Distinguish between complete and
incomplete specialization.

oo o1 Srepef ROERRR T&s o A
1

Mention two assumptions of Heckscher-
Ohlin theory of international trade.
@RI SRR e wenn LQl
SSYET SrEy T4 |

What is international product cycle
theory? :

HEEIfSF S v wgchr 75 2

Is there any relevance of the theory of
comparative cost advantage in a globally
integrated world? Give two arguments.
e R oS v IR worrpR Ry
I SEOTR AR SITRE 2 w1 35 far |

What is financial globalization?
R o 0

Mention two causes for the downfa] of
Bretton-Woods system.

@W'WWW@IWG(WWI

( Continued )

(5)

3. Answer any four of the following questions :
5x4=20

o1 oA R e wifbR Tes fan -

fa) What are the reasons for international
trade? Explain.

HEE o I FRIEAA &2 0 T4

(b) Explain the reasons which led to the
evolution of international economics as
a distinet branch of economics.

gqefifes ab1 =R M Roen i
QAT FIRFPE FRPHR I/ 41|

(c) Discuss the validity of Ricardian
comparative costs theory in developing
countries.

TR (P1e RIE'T TEAREe I OYON
FRFIRS SCeAmA 4 |

(d) Explain the localization theory of
international trade in brief.

EEoT M TANFIT TGO TLF ;M
|
fe) Distinguish between free trade and
protection. .
& MW IF AREFe AR TwS 1eH
fRdfg a1 '
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(6)

() Explain the meaning of tariff. What are
the main types of tariffs?

TR W G M W g APRTIR
AL

{g) Distinguish between tariff barriers and
non-tariff barriers.

(W) In what way is the equilibrium rate of
exchange determined under fixed
exchange rate system?

& Rw e R ST R 2R
e =79

4. Answer any Jour of the following questions :
10x4=40
O A1 SRPITR R et wifie e g -

(a) Explain clearly the Ricardian
comparative costs theory of
international trade. 10

(b) “Factor proportions and factor intensity
provide  the basis for export
specialization.” Explain. 10
VIR WS W Bome AR IR
Re@aes RRs 1 3 7
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(7)

jori f Heckscher-
i the supenonty. of H
Dlt?l(':;stsheory over the Ricardian ltihn:ic:z
Of international trade. .Sta't; Zhe e o
‘t)ions of Heckscher-Ohlin theory.

c{ﬂﬁ-ﬁﬁﬁ
e IS TFELE PR

()

te and explain the technological gap
@ rsnt:del of international trade.

e oo S
FEEie =R SRR T
3 SF T 0N

10

t
e,

cycle model. _—
eI 5 IO T TR

Analyze the effects of tariffs in a partial
@ equilibrium system.

T ST TS W 2re el 1 |
N\

10

10

timum

i ly the concept of op '

Exptanfflam %:;\g,lish the relationship
™ v

between elasticity of offer curve a:+6=10
* . N

optimum tariff

0 TE YR =R TR I IR

R RRERS oF T W TS o

EoGRA

@
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(8}

(h) Compare the effectiveness of tariff and
quota as weapons of trade restrictions. 10

Ffte P wifen Rew ws w@ AR
s TR FRERS Torl F4 |

. i) How was equilibrium exchange rate
determined under gold standard? What
were the reasons for the collapse of the
gold standard? 7+3=10

e o Attie R [/ @EE

ffifRe tafe 7 3R W AT FRPER &
wifeet ?

(i) Discuss the key reasons for the
international financial crisis. What are
the effects of the international financial
crisis? 6+4=10
oreuifes R SWHY T FRPAR WAL
1 | s R8N 761 doemz & R 2

* Kk ok
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